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Chapter 3
1.  Least, Most

2. True

3.a. 00100010


b. 11011101


c. 11110000
4.a. 00100011


b. 11011110


c. 11110001

6.a. 1101+1101= 11010


b. 0001+0001= 0010


c. 1111+1111= 11110

7.a. 11001-01010=


or 11001+10110= 01111


b. 10110-01011=


or 10110+10101= 01011

Chapter 4
1. Multiples of Eight
2. 8
3. True
4
a. 42.5 Oct -> Bin



100 010 .101 = 100010.101


b. 17 Oct -> Bin



001 111 = 001111

5
a. 110001 -> Oct


001=1 & 110=6 so 110001= 61


b. 010010.100 -> Oct



010=2 & 100=4 so




010010.100= 22.4

6. True
7.a. 15+15 Oct = 33


b. 35-26 Oct = 7


c. 10-10 Oct = 0
In Class Assignments
5C8 Hex -> Bin


5=0101, C=1100, 8=1000, so 5C8 = 010111001000
 FB17 Hex -> Bin


F=1111, B=1011, 1=0001, 7=0111, so FB17 = 1111101100010111
8A90 Hex -> Bin


8=1000, A=1010, 9=1001, 0=0000, so 8A90 = 1000101010010000
10100110 -> Hex


0110=6, 1010=A, so 10100110 = A6
1111110000-> Hex


0000=0, 1111=F, 0011=3, so 1111110000 = 3F0
1001100000-> Hex


0000=0, 0110=6, 0010=2, so 1001100000 = 260
5C2 Hex -> Dec


5x256+12x16+2x1= 1474 Dec
700 Hex -> Dec


7x256= 1792 Dec
4019 Dec -> Hex


4019/16= 251.1875 <> .1875 x 16 = 3

251/16= 15.6875 <> .6875 x 16 = 11 or B


15/16= .9375 <> .9375 x 16 = 15 or F



so 4019 Dec = FB3 Hex

51 – 40 Hex

51-40 Hex = 11 Hex
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